Can | add humbers up to 4
digits?



Fast five

*|n the number 65329, what is the value of 57

6cm

* What is the area of this shape? _ Sem

86219 + 7529 =
*Ox7/ =

*/75281 + 862 =



Fast five

*|n the number 65329, what is the value of 57
* Thousands bcm

* What is the area of this shape? Sem
e12cm2

86219 + 7529 = 93748
*Ox7=63

* /75281 + 862 =76143



Adding number to 2 decimal place is the same principle as adding
whole numbers, you still need to think carefully about your place value.
We are only going as far at hundredths.

Decimal Place Value Chart
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Make sure your place
value is correct!

Watch the video for a
worked example.

4.3 + 2.2 =
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a.|t Make sure you
43+22=159 41.13 start from this
+ 2].|2 sidel
45

There should be no humbers in
red area!

The actual set out and addition skills is just an extension
of what you have already been taught. It is useful if you

put the decimals in the whole way down your calculation
before even writing in the number.
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When you are carrying a 1 over to the
next column, it mustn't be where your

decimalis, you must move it to the next
number column!



